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QUESTION 1

Consider the following list of statements about audits and management reviews: 

I. Audits are usually more effective than management reviews at finding defects. 

II. Audits and management reviews have the same main goals, the only difference is related to the roles and level of
formality. 

III. A typical outcome of an audit includes observations and recommendations, corrective actions and a pass/fail
assessment. 

IV. An audit is not the appropriate mechanism to use at the code review in order to detect defects prior to dynamic
testing. 

Which of the following statements is true? 

A. I and III are true; II and IV are false; 

B. II and III are true; I and IV are false; 

C. III and IV are true; I and II are false; 

D. I, III and IV are true; II. is false; 

Correct Answer: C 

 

QUESTION 2

You are using this skills assessment spreadsheet in order to define a training development plan for your test team. 

Your objective is to fill the skill gaps by having at least a team member rated as an expert for each skill identified for the
"technical expertise" and "testing skills" sections, and with the ability to train the other team members. 

Considering the budget constraints you can send only one person to a training course. 
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Based only on the given information, which of the following answers would you expect to be the best option to achieve
your objective? 

A. Send Robert to a performance testing training course. 

B. Send Alex to a performance testing training course. 

C. Send John to a performance testing training course. 

D. Send Mark to a test automation training course. 

Correct Answer: B 

 

QUESTION 3

The following is the unique "critical" quality risk item that has been identified: 

CR-RSK-1. The GUI of the application might accept non-integer values for the input field designed to get the number of
bottles from the user. 

Test analysis for system testing has just begun and the following test conditions have been identified: 

TC-SEL-2. Test the selection of the package sizes TC-SEL-4. Test wrong numbers of bottles for an order TC-CR-
RSK-1. Test the accepted values from the input field designed to get the number of bottles from the user 

Assume that you have used traceability to determine the logical test cases that cover all the requirements and the single
risk item identified in that scenario. 

Which of the following is a positive logical test that is complete and correct, and covers the REQ-SEL-4 requirement? 
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A. Select a 6-bottles package, then try to insert 5 bottles; verify that no error messages are displayed. 

B. Select a 6-bottles package, then try to insert 7 bottles; verify that no error messages are displayed. 

C. Select a 6-bottles package, then try to insert 7 bottles; verify that the "Invalid number of bottles" message is
displayed. 

D. Select a 6-bottles package, then try to insert 7 bottles. 

Correct Answer: C 

 

QUESTION 4

The following are the requirements identified as "critical": REQ-SEL-001. The user shall be able to combine all the three
products with all the four durations to define an item to purchase. REQ-SEL-002. The user shall be able to add a
maximum of six different items to the shopping cart. REQ-PUR-001. The user shall be able to purchase all the items in
the shopping cart using a credit voucher. REQ-PUR-002. The user shall be able to purchase all the items in the
shopping cart using the available credit already charged on the smartcard. REQ-PUR-003. The user shall be able to
purchase all the items in the shopping cart using all the accepted credit cards (Visa, MasterCard and Great Wall Card).
REGLOGO-001. The user shall be able to logout (by clicking the logout button) from both the "select" and "purchase"
pages going back to the "browse" page (anonymous navigation). 

Moreover, the following quality risk item has been identified as "critical": 

QR-P1. The web customer portal might not be able to provide the expected response time (less than 10 sec) for the
purchase transactions under a load of up-to 1000 concurrent users. 

Test analysis for system testing has just begun and the following test conditions have been identified: 

TC-SEL-01. Test the combinations of products and durations to define an item to purchase TC-SEL-02. Test the
maximum number of items, which can be added to the shopping cart TC-PUR-01. Test the purchase of an item TC-
PUR-02. Test the purchase of an item with the credit charged on the smartcard 

Assume that you have used traceability to determine the logical test cases that cover all the requirements and the single
risk item identified in that scenario. 

Which of the following is a positive logical test that is complete, is correct, and covers the REG-LOGO-001
requirement? 

A. On the purchase page ("purchase state"), click the logout button; verify that the browse page ("browse state") is
displayed. 

B. On the select page ("select state"), click the logout button. 

C. On the purchase page ("purchase state"), click the logout button; verify that the "Impossible to logout ? complete or
cancel the current transaction" message is displayed. 

D. On the browse page ("browse state"), click the logout button. 

Correct Answer: A 

 

QUESTION 5
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You are not confident with the assessment of the risk level and you suspect that it will be possible to find high-priority
bugs in low-risk areas. 

Furthermore, the period for test execution is very short. Your goal is to test all the product risks in a risk-based way,
while assuring that each product risk gets at least some amount of testing. 

Which of the following answers describes the best test execution schedule in this scenario? 

A. T1, T2, T3, T4, T5, T6, T7, T8, T9, T10 

B. T1, T3, T5, T7, T9, T2, T4, T6, T8, T10 

C. T10, T9, T8, T7, T6, T5, T4, T3, T2, T1 

D. T10, T8, T6, T4, T2, T9, T7, T5, T3, T1 

Correct Answer: B 
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